[image: image3.png]


5


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


K17S
Kawasaki ER-6F 2006-2008
	Mounting Kit – Left side
	Mounting Kit – Right side

	
	
	
	
	
	
	
	
	
	

	ID.
	Description
	Cat. No.
	Pcs
	
	ID.
	Description
	Cat. No.
	Pcs
	

	1
	RDmoto Slider
	SL
	1
	
	1
	RDmoto Slider
	SL
	1
	

	2
	Cap
	SLcap..
	1
	
	2
	Cap
	SLcap..
	1
	

	4
	Slider adapter
	DV-316
	1
	
	4
	Slider adapter
	DV-316
	1
	

	6
	Bolt M6x25
	877
	3
	
	5
	Bolt M6x25
	877
	3
	

	7
	Bolt M4x16
	876
	2
	
	6
	Bolt M4x16
	876
	2
	

	8
	Dural. adapter
	529
	1
	
	7
	Dural. adapter
	530
	1
	

	9
	dural. roller d=41mm
	92
	1
	
	8
	Dural. roller d=25mm
	88
	1
	

	10
	dural. roller d=27,6mm
	91
	1
	
	9
	Dural. roller d=20,5mm
	89
	1
	

	11
	dural. roller d=45,5mm
	90
	1
	
	10
	Bolt M10x25mm
	868
	1
	

	12
	Bolt M10x20mm
	819
	1
	
	11
	Bolt M10x130mm
	883
	1
	

	13
	Bolt M8x80mm
	843
	2
	
	12
	Bolt M8x45mm
	820
	1
	

	14
	Bolt M6x50mm
	867
	1
	
	13
	Safety nut M10
	810
	1
	

	15
	Safety nut M6
	948
	1
	
	14
	3M Tape
	
	1
	

	16
	3M tape
	
	1
	
	
	
	
	
	


Mounting Instructions – Left side:
1. Remove the original bolts and the bonnet
2. Insert bolts (ID.13 and ID.14) into the dural. adapter (ID.8), screw the bolts on the back of the dural. adapter with the duralumin rollers (IDs. 9, 10 and 11)
3. Fit the whole assembly into the frame of the motorcycle and tighten. You can use the 3M tape at the points where the adapter touches the motorcycle frame and / or the engine. 
4. If the dural. adapter is fitted succesfully, you may mount back the bonnet and begin with slider mount assembly. Fit the slider adapter (ID. 4) onto the dural. adapter using bolt (ID.12). To make sure the slider has correct rotation, you should mount the adapter thread M6 upwards. 
5. Now fit the slider (ID.1) and insert all bolts (ID.6)

6. Insert the slider cap (ID.2) and tighten all screws (ID.7)
Note - For threads of all screws, we recommend using a medium-strength protective adhesive (blue).
Mounting Instructions – Right side:
1. Remove the original bolts and the bonnet

2. Take the adapter (ID.7), insert bolts (ID.11 and ID.12), and mount the dural. roller (ID.8) onto the frontal bolt. On rear shorter bolt, use roller (ID.9).
3. Fit the whole assembly into the frame of the motorcycle and tighten. You can use the 3M tape at the points where the adapter touches the motorcycle frame and / or the engine. 
4. If the dural. adapter is fitted succesfully, you may mount back the bonnet and begin with slider mount assembly. Fit the slider adapter (ID. 4) onto the dural. adapter using bolt (ID.10). To make sure the slider has correct rotation, you should mount the adapter thread M6 upwards. 
5. Mount the slider (ID.1) and attach all screws (ID.5)

6. Insert cap into the slider (ID.2) and attach all screws. (ID.6)

Note - For threads of all screws, we recommend using a medium-strength protective adhesive (blue).
[image: image1.png]







[image: image2.png]




bolt M10x25mm + dural. adapter DV-316








bolt M10x20mm + dural. adapter DV-316





dural. roller d=25mm + dural. roller d=20,5mm + bolt M10x130mm + bolt M8x45mm + nut M10





bolt M8x80mm + bolt M6x50mm + dural. roller d=41mm + dural. roller d=27,6mm + nut M6





three bolts M6x25mm + three bolts M6x25 (cone head) + two bolts M4x16mm





three bolts M6x25mm + three bolts M6x25 (cone head) + two bolts M4x16mm





Dural. adapter DV-300





Rubber ring





Dural. roller





bolt M8x80mm + dural. roller d=45,5mm





Dural. adapter





Rubber ring





dural. adapter DV-300








1

